Solution of the day/ August 26, 2019
6" Class

Mathematics: Ans : (B)
28+11 +1 = 40 (28 Positive numbers, 11 negative numbers and 0)
Physics: Ans: (B)

K.E = %x 0.2x0.2x0.2=0.004J

Chemistry: Ans: (A)
Biology: Ans: (B)
7" Class

Mathematics : Ans: (C)

The sub-triplicate ratio of a2 :b2is = ¥a? : ¥b? = a§ :bg
Physics: Ans: (C)

Chemistry: Ans: (C)

Biology: Ans: (B)

8" class

Mathematics: Ans: (A)

AxE-3y* 12

2x? +5y® 19

19(4x2 —3y2) =12(2x2 +5y2) — 76x2 —57y? = 24x2 + 60y?

X2

= 52x% =117y?* = 4x? =9y2:>y_2=Z:>

x_3
y 2

Physics: Ans : (D)

Chemistry: Ans: (C)
Hydrogen behaves as a metal at very high pressure.
Biology: Ans: (D)
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o™ Class

Mathematics : Ans : (A)

Mode =3median-2Mean
Mode-Median=2(Median-Mean)
24=2(Median-Mean)
(Median-Mean) = 12

Physics: Ans : (C)
Chemistry: Ans: (A)

Biology: Ans: (A)
10" class

Mathematics: Ans: (A)

In AABC , use Pythagoras theorem
AC =V1+9 =10 =245

CD =4+10 =14 =27

AC +CD =J§(\/§+\/7)
Physics: Ans: (C)

Chemistry: Ans: (B)
Biology: Ans: (C)

Reasoning : Ans: (D)



